
Item 00:

Present the item on the student-response page. Read the highlighted text exactly as it appears:

Many people in Colorado lost their jobs in the 1930s. What caused people to lose their jobs?

Point to the answer options, and read the highlighted text exactly as it appears:

Great Depression, Westward Expansion, Gold Rush

 

Fill in the choice on the answer document that corresponds with the student’s response for this item.

Read the highlighted text exactly as it appears:

The Great Depression caused many people in Colorado to lose their jobs in the 1930s. 
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Many people in Colorado lost their jobs in the 1930s. What caused people to lose their jobs?
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Item 00:

Present the item on the student-response page. Read the highlighted text exactly as it appears:

Apartment renters in Colorado want the cost of rent lowered. Apartment owners in Colorado 
want the cost of rent to stay the same. What are both groups afraid of?

Point to the answer options, and read the highlighted text exactly as it appears:

Losing Friends, Losing Jobs, Losing Money

 

Fill in the choice on the answer document that corresponds with the student’s response for this item.

Read the highlighted text exactly as it appears:

Both groups are afraid of losing money.
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Apartment renters in Colorado want the cost of rent lowered. Apartment owners in Colorado want the cost of rent to stay the 
same. What are both groups afraid of?

B	

Losing Jobs
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Losing Friends Losing Money
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Item 00:

Present the item on the student-response page. Read the highlighted text exactly as it appears:

A person goes to a bakery. He buys a cookie and a pie instead of a cupcake. What is the 
person’s opportunity cost?

Point to the answer options, and read the highlighted text exactly as it appears:

A cookie, A cupcake, A pie

 

Fill in the choice on the answer document that corresponds with the student’s response for this item.

Read the highlighted text exactly as it appears:

The person’s opportunity cost is a cupcake.
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A person goes to a bakery. He buys a cookie and a pie instead of a cupcake. What is the person’s opportunity cost?
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A cupcake
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A cookie A pie
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